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Abstract



Mentioned to network environment, a lot of metrics parameters measurement precision are
dependent on Clock Synchronization. However, after the synchronization, the two hosts' clock
will dtill deviate from each other because of the clock's “drift”. Based on the clock
synchronization in Network Time Protocol, the study to the relative clock offset of two hosts has
been launched and the linear model has been established. On the basis of this, the Clock
Synchronization System Based on NTP have been designed and realized. It can record the
sampling time datum by ping message measurement. And then analyze the data with Fuzzy
Clustering Technique and Linear Regression Technique to draw the models. At last, measure the
relative clock offset according to the corresponding model. It provides an API for correcting the
system clock. The precision of this measurement can under the lever of millisecond. It basically
has satisfied the accuracy request for the transmission delay measurement.

Key words:. Clock Synchronization, Network Time Protocol (NTP), Linear Model,
Clock's Offset, M easurement
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